10

75
21
22
27
12

220

10

40

4-B

4-A

40

3-B

10

3-A

13

60

BHRAE TR AR

2-B

5%
=

ik
2-A

FE

16

50

1

1
1

20

it

i
i

YA
AR

B
HA %

[

B 2
H bB%
Bl ol
FEBIFR

A KR

gl
&

JE R &
ERiES
WIIE =
iellE=s
IRERE
/NEE

Ho
Rl

-+

B
Elll

A

NECE
RVIES

HE
JHIT 25

HE A R

AT RS

R

L

7

4]
&
4]

wm

£k
e

398

13 90 19 65 18 50 28

84




TG TR AR AR

[ 51 ]

X 4y 1I-A | 1-B | 2-A | 2B | 3-A | 3B | 4-A | 4B | 5-A | 5B | B~ | &FF
75 EAERF 1 1
P B 1 3 1 11
BRE TG 1 2
wE 1
NEZE 1 1
AtrNE 1
FARTE
L% 3
Wi 1 1
TFHE
FHHEEF 2 6 1 21
()11 5]

X 4y I-A | 1-B | 2-A | 2B | 3-A | 3B | 4-A | 4B | 5-A | 5B | 5~ | &FF
75 EAERF 1 3
B 1 2
JEJN B 1 3 8
+RE 1 1
4 E 1 2
ez
HENE 1
WREE !
wIIE 1 2
e 1 1 2
PlgE
K%

FHHEER 2 3 6 22
(8% 71t ]

X 4y I-A | 1-B | 2-A | 2B | 3-A | 3B | 4-A | 4B | 5-A | 5B | B~ | &FF
75 EAERF 2
Wz 27 1 1
HIPEE 1 4
ERE 2
i E 1 1
=3 1 2
RS 4 5
i E 1
ENZIE S 1 2
WIRE 1 4
BiE 1 1
N 1 2
FHHEEF 4 5 2 1 27
|ElazaT) |

X 4y 1-A | 1B | 2-A | 2B | 3-A | 3B | 4-A | 4B | 5-A | 5-B | BI~F | &FF
FEAHRR 1 6
JLRE 2
IR 1
e 1
B
R 1 1
g 1
B
HEaeH 1 1 12




—
3
: /l]'
>
o
=

B e AMAEE T AR AR

=

2-A 2-B

4-A

4-B

5-A

5-B

77
23

S
3R
R
A

NG

f-2 S

R

it

HRR AR

Hefi ik

T

R

R 3 3

AR

FHERTSE

Bt

A i A ]

f“/

R

t

N
Vi

f
B | &
o &

N
Vi

St
&
&
i

e
b
b
=

b>
EP?%

| |

b>
A | ORE R
b

>
R
[1l

T
2

ol

20

60

40

40

10

220

20

60

40

40

10

220

20

60

41

10

228




FEELE AR [ AR AR

(Bt 7 i A ]

1-A

2-B

3-B

4-B

q
=]

Gy

o
i

B2

A it

B A A

PR A Bl

PAA

B ZZ i
i3
%

.

i

FEALE

B 5 A ]

1-A

2-B

3-B

4-B

q
=]

Gy

o
i

HAF

ARG %2

A2

A Hir sk

A A

JEAGE

A A 38

EA G

FEALE

(6 7 i A ]

X

2

1-A

2-B

3-B

4-B

q
=]

Gy

o
i

HIAL RS

HIAZE

HIAE: 52

BIAAEZ

S sk

HIAE A

HIA

HIAZE

PIAE G

FEALE

(AL 7 A ]

X

2

1-A

2-B

3-B

4-B

q
=]

Gy

o
i

AR

Azt

ElN

JeAA 2

JeA Hird

JbA A

JEAE

JeAzz®

Eles

FEALE




